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let n = 10 ;;
let foo x = x + 1;;
let _ = foo n ;;

let goo x = x + 1 in
goo 10 ;;
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let foo x =

1 +2 %3+ (lety=xx*x2) x4+ 5 ;;

(* 000000 OKx)
let foo x =
1 +2 %3+ (let vy =x*x21iny +vy) *x 4 + 5

(* let ... in ... O0O000OO0OOCOOOODOOOOOOOCODOOODOOOOSx)
let foo x =
let n = 10 in
if n <= 2 then 1
else
let vy = 10 in

yv*y + (n —let z = x *xy +nin z) + 4
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# let n = 10 ;;
# #use "abac.ml" ;;

# #quit;;
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let foo x = x + 1

let rec goo x =

if x = 0 then 1

else x *x (goo (x — 1))
let _ = goo 13
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let _ =1 + 2
let z

let x = 3 in x * 2
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